Propose to define property 
Pxxx has representative content
Domain: 	E73 Information Object
Range: 		E73 Information Object
Subproperty of: 	E73 Information Object. P165i is incorporated in (incorporates): E73 Information Object
Quantification: 	many to many (0,n:0,n)
Scope note: 	This property associates an instance of E73 Information Object with a complete, identifying representation of its content in the form of another instance of E73 Information Object.
This property only applies to instances of E73 Information Object that can completely be represented by discrete symbols, in contrast to analogue information. The representing object may be more specific than the symbolic level defining the identity condition of the represented. This depends on the type of the information object represented. For instance, if a text has type "Modern Greek character and punctuation marks sequence", it may be represented in a formatted file with particular fonts, meaning however only the sequence of Greek letters. Any additional analogue elements contained in the representing object will not be regarded to be part of the represented.
As another example, if the represented object has type "English words sequence", American English or British English spelling variants may be chosen to represent the English word "colour" without defining a different symbolic object.
In a knowledge base, typically, the represented object will appear as a URI without a corresponding file, whereas the representing one will appear by the URI of a binary encoded file existing outside the knowledge base proper, or even a paper edition.
Discussion points: 
SdS, TV problem with understanding what the scope-note claims. He does not see how the proposed scope-note resolves the problem it set out to resolve. 
CEO: is the relation similar btw an instance of F2 Expression and F3 Manifestation? A generalization of R4 embodies (is embodied in), in fact. 
The scope note is really dense and far from self-explanatory. 
We need to put together a number of examples that illustrate the case in point. The text is extremely abstract that one cannot identify what problem this aims to resolve. 
Examples needed: 
CEO: IPR legislation. Copies of the same contract shared among various services stand for the same object. The point is concrete, but needs to be made explicit.
MD: wants to use canonical editions of Aristotle for instance. And someone else rewrite the definition and discuss it anew. 
SdS: contends that Aristotle is not an ideal example. One could use the CRM text -given that we are all familiar with it and it comes with multiple levels of representation. Suggested that MD rewrite the scope note by using the full example from the CRM. 
MD: very few people that are familiar with the editorial process involved in the CRM will understand the example SdS proposed. He thinks that Aristotle or Legislation form better examples but he can try and formulate one from scratch. 
CEO: will try to help with examples for F3 Manifestation and with reformulating. 
MD: cannot make the text less abstract, someone else has to take over
DECISION: CEO, TV, OE to provide an alternative formulation that will be discussed at a later stage.   

